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In RF receiver application the preamplifre. has

Lo'w noise arnplifier

Class A power amrrlifier

To design a maximally flat low pass filter rvith fc: Z
dB lL at 3 GHz tlre order N is
2
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Choose the correct option fo. foilowrng q
carry equal marks 1201

:f:::::ifl!ll .n"fgv into equipment ro enabt. it to op".utor compatibitity in its
electromagnetic environment .
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Option C MIL- STD 461D
Option D VDE

8 The maximum unilateral gain is a lunction of -------
Option A Source reflection coefficient
Option B S pql4meters of transistors
Option C Load reflection coefficient
Option D Source and load reflection coefficients

o Select one which is not a method of frequency synthesis,
Option A Frequency sylthesis by modulus divider
Option B Direct frequency synthesis
Option C Compressed frequency synthesis
Option D Frequency synthesis by PLL

l0 Is it possible tc use normal smith charl for reading input impedance for reflection coefficient
greater than one

Option A I Only possiUt"-fo. .".tu* rul,"
Option B Possible

Option C_
Option D

Not possible

Poisi

Draw one
Draw
Describe sinsle
Solve any one

illator circuit.Find vaiue of .which maximizes oscillator power .

1ne h equations.
with neat di

l0 marks each
has the following scattering and noise parameters at 4 Ghz, measured with 50

Q system
Srr:0.6 z-600'Srz:0.05 t-260, Szr :1.9L810 , Szz:0.5L-600 ,Fmin:l.6dB, Rn:
20 O and I- cpt:0.62 r l00o

Assuming the FET to be unilateral .design an amplifier for maximum possible gain and
noise figure not more than 2dB.

Design a composite low pass filter by image parameter method for folloiving specifications
Ro: 50 O f":50 MHz. f. =' 52 MHz
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A Solve any two 5 marks each
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Solve anv two 5 marks each
n difference in amplifier and oscillator.

configuration driving 50 Oload ondrain sidesrr :0.9 z-1500. S12 = 0.2 /_450 ,
Szt=2.6 L 5Oo , Szz :0.52 -105 0.Calculate 

and plot stabilitycircl.s anJchorse ri f"t
I-in>> I.Design load terminating network

An N:3 Chybyshev bandpass filter is to 6e@d-.ipple fbr a
conrmunicaticn link Thc centre fi'equency is at 2.4 GHz anrl filtei has to meet^ banclwidth

!ain the characteristics of
lain the terms ins:rtion loss factor, fbctor ,re ion in filter.

Solve any one 10 marks each
Desigrr a t\\o port transistor oscillator at 6 GHz ,ting ffif in cor,ro, .ou.ce

requirement of 20%o.The filter has to be inserled into 50 Qcharacteristiciine impedance

Solve any two < m-.1.. ^^^LJ r,.qr l\J v4!ti

What are the sources ofEMI and effects of EMI
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Write a rrote on sa

Sclve any one 10 marks each
- 
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S parameters of properly biased HFET-1101 measured using 50 f)network analyzer i 6

Srr : 0.6 142-167.4c,Sr2 : 0.046 L650., Szt=2.18t 32.40, Szz :C.ZL6L -B3o
Oesrgr m a*pti this for maximum possible gain
A one porl oscillator uses a negative r.sirta Z"=5O O"t ,t,
desired operating point f,or ts 6GHz.Design roacr marching-ner*o.k.
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1i Explain ,jii-fci'ential FET mixer wirh diagranl.
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